normalized X?

< x2/ndf >

Ratio

< x2/ ndf >

Ratio

Ratio

<dpp. > (%)

[ normalized x? probability |

chiz Chiz_prob
Entries 53 - Entries 53
Mean 1.452 H + [ Mean 0.4331
Std Dev 1.658 : + | stdpey 0.3081
S 0.12f- -1 T
chiz : Chiz_prol
Entries 52 Entries
Mean 791 - | Mean 03957
- Lstd Dev 569 Std Dev 03325
chi2 . .. chiz_prob
Entries 55 0.08 Entries 55
- | Mean 1752 Mean
Std Dev 255

R OSH[-pF--or B
0"—0 2 4 6 8 10 12 14 16 18 20 0 010.2030405060.7080.9
x? Prob(x?)
5g = 2r
E = o
4.5F R SR A A F
E S
7] SR R R S SR 2 F
E o~ ok
3.5 . VT [ e ) [
3 E_. m=m== DQM_V0001_R000000001__Global__cmssw1000time__RECO
F | === DQM_v0001_R000000001_Global_mkFitNewOLD100Otime_ RECO |77
2.5 | e DQM_V0001_R000000001__Global__mkFitNewBins2DC1000time__RECO
P RIS | PO TN I =z
15F
0.5E-
E bl i i i
3=
T
o

< X2/ ndf >

i

Ratio

1072

-1
AR(track, jeltS)



	Contents
	Page 1


